22 I DE=AW(6) B B

NEDEAVEFVELL S,

® 3L 4d. - 3d. = L dL
@9L 7dL — IdL = L dL
@ 4L 3d. — IdL = L dL
@ IL 8d. — 5dL = L dL
® 7L 6d. — 2dL = L dL




22 I DE=AW(6) 2 B B

NEDEAVEFVELL S,

@ 4L 4dt — IdL = L dL
@ 9L 6d. — 5dL = L dL
@ 5L 6d. — 3dL = L dL
@ 2L 9d. — IdL = L dL
® 6L 5d. — 2dL = L dL




22 I DE=AW(6) 3 B H

NEDEAVEFVELL S,

® 2L 7dL — 5dL = L dL
@ 8L 7d. — 7dL = L
@ 7L 3d. — IdL = L dL
@ 1L 8d. — 8dL = L
® 8L 5d. — 5d. = L




22 I DE=AW(6) 4 B B

NEDEAVEFVELL S,

@ 4L 4d. — 3dL = L dL
@ 8L 2d. — 2dL = L

@ 9L 7dL — 4dL = L dL
@ 3L 8d. — 5dL = L dL
® 7L 2dL — IdL = L dL




22 I DE=AW(6) 5 B H

NEDEAVEFVELL S,

1L 8dL — 6d. = L dL
@ 7L 6d. — 6dL = L
@ 7L 6d. — 6d. = L
@ I L 4dL — 2dL = L dL
® 5L 8dL — 6d. = L dL




22 I DE=AW(6) 6 B H

NEDEAVEFVELL S,

® 3L 9d. - 6d. = L dL
@ 7L 3d. — IdL = L dL
@ IL 3d - 3d. = L

@ 5L 4d. — 3dL = L dL
® 8L 5d. — 2dL = L dL




22 I DE=AW(6) 7 B B

NEDEAVEFVELL S,

® 2L 4d. — 3d. = L dL
@ 6L 5d — 2dL = L dL
@ IL 8dL — 5dL = L dL
@ 4L 5d — 3dL = L dL
® 5L 8dL — 6d. = L dL




22 I DE=AW(6) 8 B H

NEDEAVEFVELL S,

® 3L 9d. - 9gdL = L

@ 9L 4d. — 2dL = L dL
@ 1L 8dL — 5d. = L dL
@ 3L 5d. — 4dL = L dL
® 9L 2d. - ld. = L dL




22 I DE=AW(6) g B H

NEDEAVEFVELL S,

O IL 9d. — 2d. = L dL
@ 7L 5d. — 2dL = L dL
@ 6L 3d. — 3d. = L

@ 3L 6d. — IdL = L dL
® 8L 9d. - 7dL = L dL




22 I DE=AW(6) 10 A H

NEDEAVEFVELL S,

@ 4L 9d. — 2dL = L dL
@ 8L 4d. — 4dL = L

@ 4L 6d. — 3d. = L dL
@ 2L 2d. — IdL = L dL
® 6L 9d. — 3dL = L dL




22 I DE=AW(6) | | B H

NEDEAVEFVELL S,

@ IL 7d0 — 2dL = L dL
@ 6L 4d. — IdL = L dL
@ IL 5d. — 5d. = L

@ 4L 9d. — 3dL = L dL
® 5L 6d. — 3dL = L dL




22 I DE=AW(6) |2 B B

NEDEAVEFVELL S,

2L 7d — IdL = L dL
@ 7L 6d. — 2dL = L dL
@ 5L 8dL — IdL = L dL
@ I L 5d. — 4dL = L dL
® 6L 8d. — 8dL = L




22 I DE=AW(6) K A H

NEDEAVEFVELL S,

O IL 4d. — 3d. = L dL
@ 9L 8d. — 7dL = L dL
@ 6L 9d. — 4dL = L dL
@ 1L 6d — 6d. = L

® 8L 2d. — IdL = L dL




22 I DE=AW(6) 14 B H

NEDEAVEFVELL S,

@ 1L 8dL — 2dL = L dL
@ 8L 9d. — 2dL = L dL
@ 6L 3d. — 3d. = L

@ 1L 9d. — 8dL = L dL
® 6L 6d. — 2dL = L dL




22 I DE=AW(6) 15 A H

NEDEAVEFVELL S,

® 3L 6d. — IdL = L dL
@5L 8d. — 3dL = L dL
@ 4L 3d. — IdL = L dL
@ 3L 6d. — 2dL = L dL
® 8L 2d. — IdL = L dL




22 I DE=AW(6) | 6 A H

NEDEAVEFVELL S,

4L 7d — 1dL = L dL
@ 6L 4d. — IdL = L dL
@ 6L 6d. — 3d. = L dL
@ 2L 8d. — 7dL = L dL
® 6L 8d. — 3dL = L dL




22 I DE=AW(6) |7 B H

NEDEAVEFVELL S,

O 4L 7d. — 3dL = L dL
@ 6L 9d. — 4dL = L dL
@8L 9d. - 7dL = L dL
@ 5L 2d. — 2dL = L

® 5L 5d. — 3dL = L dL




22 I DE=AW(6) |18 A H

NEDEAVEFVELL S,

O IL 7d0 — 7dL = L

@ 6L 3d. — 2dL = L dL
@9L 8d. — 6d. = L dL
@ 3L 9d. — 6dL = L dL
® 9L 2d. - ld. = L dL




22 I DE=AW(6) K A H

NEDEAVEFVELL S,

@ 4L 4d — IdL = L dL
@ 6L 2d. — IdL = L dL
@6L 9d - 5d. = L dL
@ IL 5d — 5d. = L

® 9L 6d. — 4dL = L dL




22 HITDAN() 20 A H

NEDEAVEFVELL S,

@ IL 5d. — 5d. = L
@ 9L 4d. — 2dL = L dL
@5L 7dL — 2dL = L dL
@ 5L 4d. — 2dL = L dL
® 6L 6d. — 6d. = L




22 I DE=AW(6) 2| B H

NEDEAVEFVELL S,

O IL 9d. — I1dL = L dL
@ 7L 7dL — 2dL = L dL
@ 7L 8d. — 8dL = L
@ 4L 2dL — 2dL = L
® 8L 6d. — 2dL = L dL




22 I DE=AW(6) 22 B B

NEDEAVEFVELL S,

@ 3L 8dL — IdL = L dL
@ 6L 5d. — 3dL = L dL
@9L 7d. — 6d. = L dL
@ 3L 6d. — IdL = L dL
® 9L 3d. - IdL = L dL




22 HITDAN() 23 A H

NEDEAVEFVELL S,

O 4L 5d. — 2dL = L dL
@ 7L 8d. — 5dL = L dL
@ 2L 7dL — 5dL = L dL
@ 2L 6d. — 6d. = L

® 7L 5d. — 4dL = L dL




22 I DE=AW(6) 24 B H

NEDEAVEFVELL S,

@ 1L 8dL — IdL = L dL
@ 9L 2d. — IdL = L dL
@9L 2d. — IdL = L dL
@ 3L 6d. — 6dL = L

® 9L 2d. - ld. = L dL




22 I DE=AW(6) 25 B H

NEDEAVEFVELL S,

@ 3L 5d. — 2dL = L dL
@ 7L 8dL — ldL = L dL
@ 4L 8dL — 4dL = L dL
@ 3L 6d. — 6d. = L

® 5L 5d. — ld. = L dL




22 HITDAN() 26 A H

NEDEAVEFVELL S,

O IL 8dL — 4d. = L dL
@ 6L 7d. — 4dL = L dL
@ 8L 2d. — IdL = L dL
@ 4L 6d. — 6dL = L

® 9L 9d. — 5dL = L dL




22 I DE=AW(6) 27 B H

NEDEAVEFVELL S,

O IL 9d. — 2d. = L dL
@ 7L 4d — IdL = L dL
@ 7L 9dL — 4dL = L dL
@ 3L 6d. — 5dL = L dL
® 7L 5d. — 4dL = L dL




22 HITDAN() 28 A H

NEDEAVEFVELL S,

® 2L 6d. — 5dL = L dL
@ 7L 9d. — 3dL = L dL
@ 8L 5d. — 5d. = L

@ 2L 9d. — IdL = L dL
® 8L 9d. — 5d. = L dL




22 HITDAN() 29 A H

NEDEAVEFVELL S,

O IL 2d0 — 2d. = L
@ 7L 5d — IdL = L dL
@ 4L 2dL — 2dL = L
@ I L 4dL — IdL = L dL
® 8L 7d. — 3dL = L dL




22 I DE=AW(6) 30 B H

NEDEAVEFVELL S,

® 2L 9d. - 9gdL = L
@ 7L 6d. — 5dL = L dL
@ 9L 9d. - 2dL = L dL
@ 5L 2d. — 2dL = L
® 5L 2d. — 2d. = L




